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1= cUof}nL uf=lj=;=-xfn sfjf;f]tL g=k=_-k|lts \̂&fdf_ 

1 j*f g+=1 /2 sf] hUuf k|:tfljt y}nL c+s 

-s_ lkr af^f];¤u hf]l*Psf] 950000 

-v_ u|fa]n af^f];¤u hf]l*Psf] 600000 

-u_ sRrL af^f];¤u hf]l*Psf] 450000 

-#_ af^f] gePsf] 130000 

2= j*f g+=3÷s,v,u,# / ª sf] hUUff 

-s_ /fhdfu{;¤u hf]l*Psf] 3300000 

-v_ lkraf^F] leq 1650000 

-u_ u|fa]n af^F] 1100000 

-#_ sRrL af^F] 830000 

-ª_ af^F] gePsf] 170000 

3= j*f g+=4÷s,v,u,3sf] hUuf 

-s_ lkraf^f];¤u hf]l*Psf] 830000 

-v_ u|fa]n af^F] 450000 

-u_ sRrL af^F] 310000 

-#_ af^F] gePsf] 130000 

4= ;fljs cUof}nL j*f g+=5÷s,v,u,sf] hUuf -xfn s'df/jtL{ _ 

-s_ lkraf^f];¤u hf]l*Psf] 730000 

-v_ u|fa]n af^F] 400000 

-u_ sRrL af^F] 300000 

-#_ af^F] gePsf] 130000 

5= ;fljs cUof}nL j*f g+=6÷s,v,u,# sf] hUuf  

-xfn s'df/jtL{_ 

-s_ lkraf^f];¤u hf]l*Psf] 730000 

-v_ u|fa]n af^F] 400000 

-u_ sRrL af^F] 300000 

-#_ af^F] gePsf] 130000 

6= ;fljs cUof}nL j*f g+=7 sf] hUuf -xfn s'df/jtL{_ 

-s_ lkr af^f];¤u hf]l*Psf] 450000 

-v_ u|fj]n af^f] ;+u hf]l*Psf] 330000 

-u_ af^F] gePsf] 130000 

7= ;fljs cUof}nL j*f g+=8 sf] hUuf -xfn sfjf;f]tL g=kf=_ 

-s_ lkr af^f] ;+u hf]l*Psf] hUuf 720000 

-v_ u|fa]n af^F] 610000 

-u_ sRrL af^F] 400000 

-#_ af^F] gePsf] 130000 
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8= ;fljs cUof}nL j*f g+=9sf] s / v sf] hUuf -xfn s'df/jtL{_ 

-s_ leqL lkr af^f] ;u hf]l*Psf] 720000 

-v_ u|fj]n af^f] ;u hf]l*Psf 610000 

-u_ leqL sRrL af^f];¤u hf]l*Psf] 400000 

_#_ af^F] gePsf] 130000 

 42= cd/fk'/L uf=lj=;=-xfn u}*Fsf]^ g=kf=_df kg]{ hUUff -k|lts \̂&f_ 

-s_ /fhdfu{nfO{ %'g] ;a} jf*{sf hUuf 3300000 

-v_ /fhdfu{af^ vf]lnPsf pQ/ blIf)fsf af^fsf bfof+afof+sf hUUffx? 

1= lkr af^f];¤u hf]l*Psf] 1800000 

2= u|fa]n af^f];¤u hf]l*Psf] 1220000 

3= sRrL af^f];¤u hf]l*Psf] 730000 

4= af^f] gePsf] 170000 

-u_ j*f g+=2  

1= lkr af^f];¤u hf]l*Psf] 350000 

2= u|fa]n af^f];¤u hf]l*Psf] 200000 

3= sRrL af^f] 170000 

3= af^f] gePsf] 130000 

3= pkNnf]cv{nf uf=lj=;=cGt{ut -k|lt/f]kgL_ 

-s_ af^f]nfO{ %'g] ;a} jf*{sf hUuf 35000 

-v_ af^f] gePsf] wgx/tkm{ 25000 

-v_ af^F] ePsf] le^tkm{ 20000 

4= ;fljs sfjf;f]tL uf=lj=;=cGt{ut xfn b]p/fnL uf=lj=;=df kg]{    k|lts \̂&fdf_ 

1= j*f g+=1÷s,v,u sf] hUuf 

-s_ *)*f em\ofnaf; hfg] lkr af^f]nfO{ %'g] hUuf 1350000 

-v_ ;f] afx]s cGo leqL lkr af^f]nfO{ %'g] hUuf 530000 

-u_ ;f] afx]s cGo u|fj]n af^f]nfO{ %'g] hUuf 400000 

-#_ ;f] afx]ssf] sRrL af^f] nfO{ %'g] hUUf 250000 

-ª_ af^f] gePsf] hUuf 170000 

2= j*f g+=2÷s,v,u,#,ª sf] hUuf b]p/fnL uf=lj=;=df 

-s_ *)*f a]n'jf kLr af^f]sf hUuf k|lts \̂&f 730000 

-v_ leqL u|fj]n af^f]nfO{ %'g] hUuf 530000 

-u_ leqL sRrL af^f] 400000 

-#_ af^f] gePsf] 130000 

3= P]=j*f g+=3÷s,v,u,#,ª sf] hUUff xfn sfjf;f]tL g=kf= 

-s_ lkr af^f]nfO %'g] hUUff 1000000 

-v_ u|fa]n af^f]nfO{ %'g] hUuf 730000 

-u_ sRrL af^f]nfO{ %'g] hUuf 530000 

-#_ af^f] gePsf] 170000 
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4= P]=j*f g+=4÷s,r,%,em,h,em / ~f -gDa/Ltkm{_ 

-s_ lkr af^f]nfO{ %'g] hUuf 800000 

-v_ u|fa]n af^f]nfO{ %'g] hUuf 600000 

-u_ slRr af^f]nfO{ %'g] hUuf 450000 

-v_ af^f] gePsf] j*f g+=4.v,u,#,^,&,*,( ;d]t s'd;f]t 

If]qdf kg]{ hUuf 

100000 

5= P]=j*f g+=4÷v,#,ª, ^,&,* / ( sf] hUuf -gDa/Ltkm{_ 

-s_ lkr af^f];¤u hf]l*Psf] 1450000 

-v_ u|fa]n af^f];¤u hf]l*Psf] 1100000 

-u_ sRrL af^f];¤u hf]l*Psf] 600000 

-#_ af^f] gePsf] 170000 

6= P]=j*f g+=4.s k'g{af; tkm{sf] hUUff 

1= /fhdfu{nfO{ %'g] ;a} hUufx? 5000000 

2= hgtf dfu{af^ kmnkm"nrf]s;Dd hfg] k'gjf{; af^f]sf] hUuf 

-s_ lkr af^f];¤u hf]l*Psf] 2250000 

-v_ u|fa]n af^f];¤u hf]l*Psf] 1720000 

-u_ sRrL af^f];¤u hf]l*Psf] 1200000 

-#_ af^f] gePsf] 330000 

7= ysfnLrf]saf^ 28 ljufxf hfg] af^f];+u hf]l*Psf] hUuf 

-s_ lkr af^f];¤u hf]l*Psf] 2250000 

-v_ u|fa]n af^f];¤u hf]l*Psf] 1450000 

-u_ sRrL af^f];¤u hf]l*Psf] 680000 

-#_ af^f] gePsf] 270000 

8= P]=j*f g++=4÷v k'gjf{; tkm{sf] hUUff 

-s_ /fhdfu{;+u hf]l*Psf] 5000000 

-v_ ;efkltrf]sb]lv b]jLrf]s ;Dd hf]l*Psf] lkr af^f] 2770000 

-u_ hgtfdfu{ k'gjf{; dfu{;Dd hf]l*Psf] lkr af^f] 2770000 

-#_ cGo leqL lkraf^F];u hf]l*Psf]  1800000 

-ª_ u|fa]n af^f];¤u hf]l*Psf] 1450000 

-r_ sRrL af^f];¤u hf]l*Psf] 1060000 

-%_ af^f] gePsf] 330000 

9= P]=j*f g++=4÷u k'gjf{; tkm{sf] hUUff 

-s_ /fhdfu{nfO{ %'g] hUuf 5000000 

-v_ yfgfrf]sb]lv k~rsGofrf]s;Dd af^f]nfO{ %'g]hUuf 2770000 

-u_ kmnkm'nrf]sb]lv sf]OnfkfgL hfg]af^f]sf] bfofafof kg]{ 

a]nrf]s;Ddsf] hUuf 

2380000 

-#_ ;f] afx]s leqL lkr af^f];¤u hf]l*Psf] 1720000 

-ª_ u|fa]n af^f];¤u hf]l*Psf] 1320000 

-r_ sRrL af^f];¤u hf]l*Psf] 860000 

-%_ af^f] gePsf] 330000 
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10= P]=j*f g++=4÷# k'gjf{; tkm{sf] hUUff 

-s_ kLr af^f]df kg]{ hUuf 1590000 

-v_ u|fa]n af^f];¤u hf]l*Psf] 1190000 

-u_ leqL af^f]nfO{ %'g] hUUff 860000 

-#_ af^f] gePsf] hUuf 270000 

11= P]=j*f g++=5÷s gDa/L tkm{sf] hUUff 

-s_ kLr af^f]df kg]{ hUUff 1460000 

-v_ u|fa]n af^f];¤u hf]l*Psf] 1125000 

-u_ leqL af^f]nfO{ %'g] hUUff 730000 

-#_ af^f] gePsf] hUuf 270000 

12= P]=j*f g++=5÷s,v k'gjf{; tkm{sf] hUUff 

-s_ /fhdfu{;u hf]*Psf] 5000000 

-v_ OGb|rf]sb]lv ljxfgLrf]s ;Ddsf] kLrf af^f]sf] hUuf 3040000 

-u_ ;efkltrf]s b]lv !fgf]bo :s"n;Ddsf] kLr af^f]sf] 

hUuf 

2380000 

-#_ leqL kLr af^f]nfO{ %'g] hUUff 1470000 

-ª_ u|fa]n af^f]nfO{ %'g] hUUff 1125000 

-r_ sRrL af^f]nfO{ %'g] hUUff 730000 

-%_ af^f] gePsf] 270000 

13= P]=j*f g++=5÷u k'gjf{; tkm{sf] hUUff 

-s_ ysfnLrf]saf^ du/sf]^ hfg] af^F]sf] bfofafof hUUff 2110000 

-v_ k"j{klZrd k'gjf{;sf] af^f]n] %'g] hUUff 1470000 

-u_ kLr af^f]nfO{ %'g] hUUff 1190000 

-#_ Uf|fj]n af^F]nfO{ %'g] hUuf 800000 

-ª_ ;f] afx]s leqL af^f]nfO{ %'g] hUUff 730000 

-r_ af^f] gePsf] hUuf 330000 

14= P]=j*f g++=5÷# k'gjf{; tkm{sf] hUUff 

-s_ /fhdfu{;u hf]*Psf] 3575000 

-v_ ysfnLrf]saf^ du/sf]^ hfg] af^F]nfO{ %'g] hUuf 2110000 

-u_ ;f] afx]s /fhdfu{b]lv pQ/ blIf)f vf]lnPsf] leqL 

kLr af^f]nfO{ %'g] hUUff 

1470000 

-#_ u|fa]n af^f]nfO{ %'g] hUUff 1320000 

-ª_ sRrL af^f]nfO{ %'g] hUUff 860000 

-r_ af^f] gePsf] hUUff 330000 

15= P]=j*f g+=6÷s,v,u,#,ª gDa/Ltkm{ / k'g{jf;tkm{sf] hUuf 

-s_ /fhdfu{;u hf]*Psf] 3290000 

-v_ /fhdfu{b]v pQ/ blIf)f leqL lkr af^f]sf] hUUff 1470000 

-u_ u|fa]n af^f]nfO{ %'g] hUUff 1060000 

-#_ sRrL af^f]nfO{ %'g] hUUff 800000 

-ª_ af^f] gePsf] hUUff 200000 
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16= P]=j*f g++=7÷s,v sf] gDa/Ltkm{ 

-s_ lkr af^f]nfO{ %'g] hUUff 100000 

-v_ u|fa]n af^f]nfO{ %'g] hUUff 800000 

-u_ sRrL af^f]nfO{ %'g] hUUff 330000 

-#_ af^f] gePsf] hUUff 130000 

17= P]=j*f g+=8÷s,v,u,# sf] gDa/Ltkm{ / k'gjf{;tkm{sf] hUuf 

-s_ lkr af^f]nfO{ %'g] hUUff 1000000 

-v_ u|fa]n af^f]nfO{ %'g] hUUff 700000 

-u_ sRrL af^f]nfO{ %'g] hUUff 330000 

-#_ af^f] gePsf] hUUff 130000 

18= j*f g+=9÷s,v sf] gDa/Ltkm{ 

-s_ lkr af^f]nfO{ %'g] hUUff 1000000 

-v_ u|fa]n af^f]nfO{ %'g] hUUff 660000 

-u_ sRrL af^f]nfO{ %'g] hUUff 330000 

-#_ af^f] gePsf] hUUff 130000 

19= dfly pNn]v ul/Psf ls^fgL af^f]x? afx]s sfjf;f]tL uf=lj=;=cGt{utsf 

j*fx?sf] /fhdfu{;u pQ/blIf)f vf]lnPsf leqL af^fx?sf] Go"gtd d"Nof+sg 

k|lts \̂&f ?=860000 ;fy} leqL lkr af^f]nfO{ %'g] hUuf Go"gtd k|lts \̂&f 

?=1060000 -k'gjf{;sf] gS;f leq dfq_  

5= sf]Nx'jf uf=lj=;=cGtu{tsf hUufx? -k|lts \̂&fx?_ 

-s_ j*f g+=4÷s sf] klZrd ;fljs ls=g+=93 b]lv k"j{ 

;fljs ls=g+=195 ;Ddsf] *)*f,sf]Nx'jf,rf]/df/f 

dfu{df kg]{ hUuf 

1160000 

-v_ j*F g+=8÷s,v / 9÷v df kg]{ sf]Nx'jfY*)*f 

rf]/df/f ;*s v)*df kg]{ hUUff 

1160000 

-u_ dfly pNn]lvt j*fdf vf]lnPsf leqL af^f]nfO{ %'g] 

hUUff 

400000 

-#_ dfly pNn]lvt j*f afx]s ;f] uf=lj=;=sf] cGo ;a} 

j*fsf] leqL af^f]nfO{ %'g] hUUff 

450000 

-ª_ leqL sRrL af^f]nfO{ %'g] hUuf 330000 

-r_ j*F g+=1 b]lv 9 ;Dd af^f] gePsf] hUuf 110000 

6= sf]^y/ uf=lj=;=cGt{utsf hUUff -k|lt/f]kgL_  

-s_ df]^/ af^f]nfO{ %'g] hUUff 250000 

-v_ af^f] gePsf] wgx/tkm{ 120000 

-u_ cGo af^f 160000 

-u_ af^f] gePsf] le^tkm{ 36000 

7= u}*fsf]^ gu/kflnsf cGtu{tsf hUufx? -k|lt/f]kgL_ 

1= j*F g+=1÷s,v sf] hUuf 

-s_ lznfGof;rf]saf^ sflnsf hfg] af^F] hf}h'jf 

kfgL \̂of°L rf]s;Ddsf] af^f]sf] hUuf 

4500000 

-v_ lznfGof;rf]sb]lv lbJowfd dlGb/;Dd hfg] lkr 

af^f]sf hUuf 

3750000 
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-u_ leqL lkr af^f]nfO{ %'g] hUUff 3400000 

-#_ u|fa]n af^f]nfO{ %'g] hUUff 2530000 

-ª_ sRrL af^f]nfO{ %'g] hUUff 2000000 

-r_ af^f] gePsf] hUUff 660000 

2= j*f g+=2÷s sf] hUuf 

-s_ /fhdfu{nfO{ %'g] hUuf 7500000 

-v_ /fhdfu{af^ vf]lnPsf] pQ/blIf)f /fhdfu{;u hf]l*Psf] 

lkr af^F]sf] bfofafofsf hUuf 

5400000 

-u_ ;f] afx]s leqL lkr af^f]nfO{ %'g] hUUff 4240000 

-#_ u|fa]n af^f]nfO{ %'g] hUUff 3470000 

-ª_ sRrL af^f]nfO{ %'g] hUUff 2260000 

-r_ af^f] gePsf] hUUff 830000 

3= j*f g+=2÷v sf] hUuf 

-s_ /fhdfu{nfO{ %'g] hUuf 7500000 

-v_ /fhdfu{nfO{ %'g] u/L vf]lnPsf leqL lkr af^f]nfO{ %'g] 

hUUff 

4400000 

-u_ u|fa]n af^f]nfO{ %'g] hUUff 3470000 

-#_ sRrL af^f]nfO{ %'g] hUUff 2590000 

-ª_ af^f] gePsf] hUUff 830000 

4= j*f g+=3÷s b]lv 3÷~f sf] hUuf 

-s_ tfqLaf; ahf/ If]qsf #*]/L 800000 

-v_ leqL lkr af^f] nfO{ %'g] hUUff 600000 

-u_ leqL u|fa]n af^f]nfO{ %'g] hUUff 500000 

-#_ leqL sRrL af^f] nfO{ %'g]] hUUff 400000 

-ª_ af^f] gePsf]  130000 

5= j*f g+=4÷s,v / u sf] hUuf 

-s_ /fhdfu{nfO{ %'g] hUuf 7500000 

-v_ /fhdfu{af^ hf]l*O{ pQ/blIf)f vf]lnPsf] af^f]nfO{ %'g] 

hUUff 

4400000 

-u_ ;f] afx]s leqL lkr af^f]nfO{ %'g] hUUff 3470000 

-#_ u|fa]n af^f]nfO{ %'g] hUUff 2600000 

-ª_ sRrL af^f]nfO{ %'g]  hUUff 2260000 

-r_ af^f] gePsf] hUUff 800000 

6= j*f g+=5÷s / v sf] hUuf 

-s_ /fhdfu{nfO{ %'g] hUuf 7500000 

-v_ /fhdfu{af^ hf]l*O{ pQ/blIf)f vf]lnPsf] af^f]nfO{ %'g] 

hUUff 

5400000 

-u_ ;f] afx]s leqL lkr af^f]nfO{ %'g] hUUff 4240000 

-#_ u|fa]n af^f]nfO{ %'g] hUUff 3470000 

-ª_ sRrL af^f]nfO{ %'g]  hUUff 3025000 
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-r_ af^f] gePsf] hUUff 830000 

7= j*f g+=6÷s, / v sf] hUuf 

-s_ lkr af^f]nfO{ %'g] hUUff 2600000 

-v_ u|fa]n af^f]nfO{ %'g] hUUff 1870000 

-u_ sRrL af^f]nfO{ %'g]  hUUff 1540000 

-#_ af^f] gePsf] hUUff 660000 

8= j*f g+=7÷s, v / # sf] hUuf 

-s_ lkr af^f]nfO{ %'g] hUUff 1870000 

-v_ u|fa]n af^f]nfO{ %'g] hUUff 1540000 

-u_ sRrL af^f]nfO{ %'g]  hUUff 1270000 

-#_ af^f] gePsf] hUUff 660000 

9= j*f g+=7÷u sf] hUuf 

-s_ /fhdfu{nfO{ %'g] hUuf 4620000 

-v_ /fhdfu{af^ hf]l*O{ pQ/blIf)f vf]lnPsf] lkr af^f]nfO{ 

%'g] hUUff 

3580000 

-u_ ;f] afx]s leqL lkr af^f]nfO{ %'g] hUUff 2600000 

-#_ u|fa]n af^f]nfO{ %'g] hUUff 2200000 

-ª_ sRrL af^f]nfO{ %'g]  hUUff 1760000 

-r_ af^f] gePsf] hUUff 660000 

10= j*f g+=8÷s,v,u sf] hUuf 

-s_ /fhdfu{nfO{ %'g] hUuf 5600000 

-v_ /fhdfu{af^ hf]l*O{ pQ/blIf)f vf]lnPsf] lkr af^f]nfO{ 

%'g] hUUff 

4300000 

-u_ ;f] afx]s leqL lkr af^f]nfO{ %'g] hUUff 3470000 

-#_ u|fa]n af^f]nfO{ %'g] hUUff 2600000 

-ª_ sRrL af^f]nfO{ %'g]  hUUff 1870000 

-r_ af^f] gePsf] hUUff 660000 

11= j*f g+=9÷s,v  sf] hUuf 

-s_ /fhdfu{nfO{ %'g] hUuf 5120000 

-v_ /fhdfu{af^ hf]l*O{ pQ/blIf)f vf]lnPsf] lkr af^f]nfO{ 

%'g] hUUff 

3580000 

-u_ ;f] afx]s leqL lkr af^f]nfO{ %'g] hUUff 2300000 

-#_ u|fa]n af^f]nfO{ %'g] hUUff 1760000 

-ª_ sRrL af^f]nfO{ %'g]  hUUff 1430000 

-r_ af^f] gePsf] hUUff 660000 

8= hf}af/L uf=lj=;=cGt{utsf hUufx? -k|lt/f]kgL_  

-s_ df]^/ af^f]nfO{ %'g] hUUff 80000 

-v_ af^f] gePsf] wgx/tkm{ 35000 

-u_ af^f] gePsf] le^tkm{ 25000 
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9= td;l/of uf=lj=;=cGt{utsf hUufx? -k|lts \̂&f_ 

1= j*f g+=6÷s, v 

-s_ /fhdfu{nfO{ %'g] hUuf 3150000 

-v_ /fhdfu{af^ hf]l*O{ pQ/blIf)f vf]lnPsf] lkr af^f]nfO{ 

%'g] hUUff 

1520000 

-u_ ;f] afx]s leqL lkr af^f]nfO{ %'g] hUUff 860000 

-#_ u|fa]n af^f]nfO{ %'g] hUUff 730000 

-ª_ sRrL af^f]nfO{ %'g]  hUUff 400000 

-r_ af^f] gePsf] hUUff 170000 

2= j*f g+=7÷# / 5÷v cGt{utsf hUuf 

-s_ rf]/df/fb]lv em\ofnaf; hfg] lkr af^f]nfO %f]Psf] hUuf 1720000 

-v_ u|fa]n af^f]nfO{ %"g] hUuf 900000 

-u_ ;f] afx]s sRrL  af^f]n] %f]Psf] hUuf 730000 

-#_ af^f] gePsf] hUuf 170000 

3= j*f g+=2÷s cGt{utsf hUuf  

-s_ rf]/df/fb]lv kgf}tL hfg] lkr af^f]df kg]{ hUUff 1100000 

-v_ ;f] pNn]v eP afx]s ;a} u|fj]n af^f]df kg]{ hUUff 730000 

 ;f] afx]s ;a} sRrLaf^f]nfO{ %'g] hUUff 400000 

-u_ ;a} j*fsf] af^f]df gkg]{ hUuf 170000 

4= ahf/If]q j*f g+=4 / 7÷ª, r cGt{utsf hUuf 

-s_ /fhdfu{nfO{ %'g] hUuf 2650000 

-v_ /fhdfu{af^ hf]l*O{ pQ/blIf)f vf]lnPsf] lkr af^f]nfO{ 

%'g] hUUff 

1520000 

-u_ ;f] afx]s cGo u|fj]n af^f]n] %'g] hUuf 680000 

-#_ ;f] afx]s cGo sRrL af^f]n] %f]Psf] hUUff 530000 

-ª_ af^f] gePsf] hUuf 170000 

10= b'DsLaf; uf=lj=;=cGtu{tsf hUufx? -k|lts \̂&f_ 

1= j*f g+=1÷s sf] hUuf 

-s_ lkr af^f]nfO{ %'g] hUuf 900000 

-v_ u|fa]n af^f]nfO{ %'g] hUUff 600000 

-u_ sRrL af^f]nfO{ %'g]  hUUff 400000 

-#_ af^f] gePsf] hUUff 130000 

2= j*f g+=2 sf] hUuf 

-s_ b'DsLaf; af^ ;bL{ hfg] lkr af^f];Dd kg]{ hUuf 1320000 

-v_ ;f] afx]s leqL lkr af^f]nfO{ %'g] hUUff 106000 

-u_ u|fa]n af^f]nfO{ %'g] hUUff 730000 

-#_ sRrL af^f]nfO{ %'g]  hUUff 600000 

-ª_ af^f] gePsf] hUUff 200000 

3= j*f g+=3 sf] hUuf 

-s_ ;bL{ hfg] af^f]df kg]{ hUuf 800000 

-v_ u|fj]n af^f]df kg]{ hUuf 650000 

-v_ ;f] afx]s cGo leqL slRr af^F]df kg]{ hUuf 460000 
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-u_ af^f] gePsf] hUuf 170000 

4= j*f g+=5 sf] hUuf 

-s_ /fhdfu{nfO{ %'g]  hUUff 3430000 

-v_ Hofld/]Ylqj])fL hfg] af^F]sf] bfofafof kg]{ hUUff 

lqj])fLrf]ssf] lkr af^f]] 

860000 

-u_ u|fa]n af^f]df kg]{ hUUff 600000 

-#_ ;f] afx]s cGo leqL sRrL af^F]df kg]{ hUuf 460000 

-ª_ af^f] gePsf] hUUff 130000 

5= j*f g+=6,7,8/9 cGtu{t kg]{ hUUff 

-j*f g+=7,8,9;fljs a])fLdl)fk'/ xfn b'DsLaf; uf=lj=;=_ 

-s_ leqL af^F]df kg]{ hUuf 500000 

-v_ af^f] gePsf] hUUff 130000 

6= ;fljs a])fLdl)Fk'/ j*f g+=7/8 xfn /fsfr'nL uf=lj=;= 

-s_ af^F] ePsf] hUUff 170000 

-v_ af^f] gePsf] wgx/tkm{ 70000 

-u_ af^f] gePsf] le^tkm{ 40000 

11= b]p/fnL uf=lj=;=cGtu{t kg]{ hUUff -k|lts \̂&f_ 

-s_ rf]/df/f em\ofnaf; ;*sv)*sf] bfofafofsf] hUuf 1450000 

-v_ ;f] afx]s cGo lkr af^f]nfO{ %'g] hUuf 930000 

-u_ u|fa]n af^f]nfO{ %'g] hUUff 730000 

-#_ sRrL af^f]nfO{ %'g]  hUUff 460000 

-ª_ af^f] gePsf] hUUff 170000 

12= b]jr'nL uf=lj=;=-k|lts \̂&f_ 

-s_ d')*]hfg] lkr af^f]sf] bfofafof kg]{ hUuf 800000 

-v_ cGo lkr af^f] bfo afofdf kg]{ hUuf 650000 

-u_ u|fa]n af^f]nfO{ %'g] hUUff 600000 

-#_ ;f] afx]s cGo af^f]sf] bfofafof kg]{ hUuf 300000 

-ª_ af^f] gePsf] hUUff 130000 

-r_ ;fljs lk&f}nL xfn b]jr'nL d')*] ahf/If]qdf kg]{ 

hUuf 

660000 

13= w'/sf]^ uf=lj=;=cGtu{t kg]{ hUUff -k|lts§f _ 

-s_ af^F] ePsf] hUUff 200000 

-v_ cGo leqL af^F]sf] hUuf 110000 

-u_ af^f] gePsf] wgx/tkm{ 70000 

-#_ af^f] gePsf] le^tkm{ 60000 

      ;fljs a])FLdlgk'/ j*F g+=3 xfn w'/sf]^df kg]{   

-s_ af^F] ePsf] hUUff 200000 

-v_ cGo leqL af^F]sf] hUuf 140000 

-u_ af^f] gePsf] wgx/tkm{ 70000 

-#_ af^f] gePsf] le^tkm{ 60000 
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14= wf}jfbL uf=lj=;=cGtu{t kg]{ hUUff -k|lt/f]kgL _ 

-s_ j*F g+=2 / 7 sf] df]^/af^F] ePsf] hUUff 465000 

-v_ cGo leqL af^F]sf] hUuf 320000 

-u_ af^f] gePsf] wgx/tkm{ 110000 

-#_ af^f] gePsf] le^tkm{ 90000 

      dfly pNn]v u/]sf] afx]s cGo ;a} j*fsf] hUufsf] xsdf  

-s_ af^F] ePsf] hUUff 165000 

-v_ af^f] gePsf] wgx/tkm{ 55000 

-u_ af^f] gePsf] le^tkm{ 45000 

15= gofa]nxfgL uf=lj=;=cGtu{t kg]{ hUUff -k|lts \̂&f_  

-s_ /fhdfu{nfO{ %'g] hUuf 3150000 

-v_ /fhdfu{sf] pQ/blIf)F tyf /fsfr'nL hfg] af^f]sf] 

bfofafofsf] hUuf 

1450000 

-u_ ;f] afx]s cGo u|fa]n af^f]df kg]{ hUuf 800000 

-#_ ;f] afx]s cGo leqL sRrL af^F]df kg]{ hUuf 600000 

-ª_ af^f] gePsf] hUUff 165000 

16= gf/fo)FL uf=lj=;= cGtu{t kg]{ hUUff -k|lts^\&f_ 

-s_ u|fa]n af^f]nfO{ %'g] hUUff 330000 

-v_ sRrL af^f]nfO{ %'g]  hUUff 270000 

-u_ af^f] gePsf] hUUff 130000 

17= lk&f}nL uf=lj=;=cGtu{t kg]{ hUUff -k|lts \̂&f_ 

-s_ j*F g+=7÷# sf] /fhdfu{nfO{ %'g] hUuf 2150000 

-v_ j*f g+= 7÷# sf] nf]sfxfrf]s af^ lk&f}nL hfg] af^f]sf] 

bfofafofsf] hUuf 

860000 

-u_ j*fg+=1÷v,2÷#,7÷s, 7÷v / 9 cGtu{tsf lkr 

af^f]nfO{ %'g] hUUff 

860000 

-#_ j*fg+=1÷v,2÷#,7÷s, 7÷v / 9 cGtu{tsf u|fa]n 

af^f]nfO{ %'g] hUUff 

600000 

-ª_ dfly pNn]lvt j*fsf] sRrL tyf cGo af^F]sf] hUuf 462000 

-r_ dlfy pNn]lvt afx]s cGo j*fsf] leqL af^f]sf] 

bfofafofsf u|fa]n af^f]n] %f]Psf] hUUff. 

600000 

-%_ sRrL af^f]nfO{ %'g]  hUUff 430000 

-h_ af^f] gePsf] hUUff 165000 

-em_ lk&f}nL uf=lj=;=cGtu{t xfn b]jr'nL lslt{k'/ If]qsf] hUUff 110000 

18= k|ultgu/ uf=lj=;=cGtu{t kg]{ hUUff -k|lts^\&f_ 

1= j*F g+=1÷s,v,u 2÷s,v 3÷s,v,u sf hUufx? 

-s_ /fhdfu{nfO{ %'g] hUuf 3720000 

-v_ /fhdfu{nfO{ %f]O{ pQ/blIf)f vf]lnPsf lkr af^f]sf] 

bfofafofsf] hUuf 

2375000 

-u_ bnbn] d')*] hfg] af^f]df kg]{ hUUff 1780000 

-#_ ;f] afx]s cGo leqL lkr af^F]df kg]{ hUuf 1450000 

-ª_ u|fa]n af^f]nfO{ %'g] hUUff 1020000 

-r_ sRrL af^f]nfO{ %'g]  hUUff 660000 
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-%_ af^f] gePsf] hUUff 170000 

2= j*F g+=4÷s cGtu{tsf hUuf 

-s_ bnbn] rf]saf^ d')*] hfg] af^f] ePsf] hUuf 1720000 

-v_ ;f] afx]s leqL kLr af^F]df kg]{ hUuf 1450000 

-u_ u|fa]n af^F]df kg]{ hUuf 1020000 

-#_ sRrL af^F]df kg]{ hUuf 600000 

-ª_ af^f] gePsf] hUUff 170000 

3= j*F g+=4÷v / 4÷u cGtu{tsf hUuf 

-s_ lkr af^f]df kg]{ hUuf 900000 

-v_ u|fa]n af^F]df kg]{ hUuf 760000 

-u_ sRrL af^F]df kg]{ hUuf 600000 

-#_ af^f] gePsf] hUUff 170000 

4= j*F g+=5÷s,v / 6÷s cGtu{tsf hUuf 

-s_ bnbn] d')*] hfg] ;*sv)*sf] af^f] ePsf] hUuf 1720000 

-v_ ;f] afx]s leqL kLr af^F]df kg]{ hUuf 1450000 

-u_ u|fa]n af^F]df kg]{ hUuf 860000 

-#_ sRrL af^F]df kg]{ hUuf 500000 

-ª_ af^f] gePsf] hUUff 170000 

5= j*F g+=6÷v,7÷s,v,8÷s,8÷v cGtu{tsf hUuf 

-s_ lkr af^f]df kg]{ hUUff 900000 

-v_ u|fa]n af^F]df kg]{ hUuf 720000 

-u_ sRrL af^F]df kg]{ hUuf 530000 

-#_ af^f] gePsf] hUUff 170000 

6= j*F g+=8÷u,9÷s,v,9÷# cGtu{tsf hUuf 

-s_ d')*] hfg] af^f]sf] hUuf 500000 

-v_ ;f] eGbf afx]s af^f] ePs]f hUuf 330000 

-u_ af^f] gePsf] hUUff 130000 

7= j*F g+=9÷u cGtu{tsf hUuf 

-s_ kLr af^F]df kg]{ hUuf 1720000 

-v_ u|fa]n af^F]df kg]{ hUuf 860000 

-u_ sRrL af^F]df kg]{ hUuf 600000 

-#_ d')*] hfg] af^F]df kg]{ hUuf 530000 

-ª_ af^f] gePsf] hUUff 170000 

19= k|;f}gL uf=lj=;=cGtu{t kg]{ hUuf -k|lts&\&f_ 

-s_ s[lif af^f]df kg]{ hUuf  530000 

-v_ x'nfsL af^f] kg]{ hUuf 400000 

-u_ cGo sRrL af^f]df kg]{ hUuf 260000 

-#_ af^f] gePsf] hUUff 130000 
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20= a])FLdl)Fk'/ uf=lj=;=cGtu{t kg]{ hUuf -k|lts \̂&F _ 

1= j*F g+=4 cGtu{tsf hUuf 

-s_ /fhdfu{nfO{ %'g] hUuf 3250000 

-v_ /fhdfu{af^ vf]lnPsf] pQ/tkm{ b'DsLaf;af^ 

:s"nrf]s;Dd hfg] lkr af^f] ePsf] hUuf 

1720000 

2= /fhdfu{b]lv pQ/ blIf)F vf]lnPsf hUUff 

-s_ kLr af^F]df kg]{ hUuf 1450000 

-v_ u|fa]n af^F]df kg]{ hUuf 900000 

-u_ sRrL af^F]df kg]{ hUuf 600000 

-#_ af^f] gePsf] hUUff 170000 

3= dfly pNn]lvt j*f g+=4 afx]s cGo j*F g+=hUufsf] xsdf 

-s_ kfNkf /fdk'/ hfg] af^f] ePsf] hUuf 660000 

-v_ ;f] j*fsf cGo af^f] ePsf] hUuf 330000 

-u_ ;a} j*fsf] af^f] gePsf] hUuf 110000 

21= a'lnª^F/ uf=lj=;=cGtu{t kg]{ hUuf 

1= j*F g++ 1,2 / 3 cGtu{tsf hUuf 

-s_ j*F g+=1,2 / 3 cGtu{tsf af^F] ePsf] hUuf 360000 

-v_ gx/sf] kfgL nfUg] hUuf 220000 

-u_ gx/sf] kfgL gnfUg] hUuf 60000 

-#_ af^f] gePsf] le^ tkm{ 35000 

2= dfly pNn]lvt afx]s ;a} j*fsf hUufx? 

-s_ af^F]n] %f]Psf] hUUff 100000 

-v_ af^F] gePsf] wgx/tkm{ 40000 

-u_ af^F] gePsf] le^tkm{ 20000 

22= j]N*Lxf uf=lj=;=cGtu{t kg]{ hUuf -k|lts \̂&f_ 

-s_ /fhdfu{nfO{ %'g] j*f g+=1,2 / 2÷s,3÷s,3÷v,3÷u,4÷v 

sf] hUufx? 

3300000 

-v_ /fhdfu{nfO{ %'g] j*f g+=7÷s,7v,7÷u,9÷s,9÷v sf] 

hUufx? 

2475000 

-u_ /fhdfu{nfO{ %f]O{ pQ/blIf)f vf]lnPsf dlfy pNn]lvt j*fsf] 

lkr af^f] ePs]f hUUff 

1700000 

-#_ dfly bkmf -u_df pNn]v ePsf] afx]s leqL lkr ePs]f 

hUUff 

1320000 

-ª_ ;f] af^f]af^ vf]nPsf] u|fa]n af^f] 1000000 

-r_ ;f] af^F]af^ vf]lnPs]f sRrL af^F] 720000 

-%_ af^f] gePsf] hUUff 220000 

-%_ dfly pNn]lvt j*f afx]s ;a} j*fsf] 

1= kLr af^F]df kg]{ hUuf 1100000 

2= u|fa]n af^F]df kg]{ hUuf 800000 

3= sRrL af^F]df kg]{ hUuf 600000 

4= af^f] gePsf] hUUff 170000 

-h_ ;fljs j]N*Lxf uf=lj=;=xfn /tgk'/ uf=lj=;=df kg]{ hUUffsf] xsdf 
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1= df]^/ af^f]df ePsf] hUuf 570000 

2= cGo af^f]sf] hUUff 360000 

3= af^f] gePsf] hUUff 120000 

23= d's'Gbk'/ uf=lj=;=cGtu{t kg]{ hUuf -k|lts^\&f_ 

s_ kLr af^F]df kg]{ hUuf 1100000 

-s_ u|fa]n af^F]df kg]{ hUuf 730000 

-v_ sRrL af^F]df kg]{ hUuf 600000 

-u_ af^f] gePsf] hUUff 170000 

24= ldy's/d uf=lj=;=cGtu{t kg]{ hUuf -k|lt/f]kgL_ 

-s_ df]^/ af^f]df ePsf] hUuf 170000 

-v_ af^f] gePsf] hUuf÷v]t tkm{ 70000 

-u_ af^f] gePsf] le^tkm{sf] hUUff 45000 

25= /s'jf uf=lj=;=cGtu{t kg]{ hUuf -k|lt/f]kgL_ 

-s_ df]^/ af^f]df ePsf] hUuf 400000 

-v_ gx/sf] kfgL nfUg] hUuf 265000 

-u_ ;f] afx]s af^F] gePsf] wgx/tkm{sf] hUUff 110000 

-#_ ;f] afx]s af^f] gePsf] le^tkm{sf] hUUff 80000 

26= /hx/ uf=lj=;=cGtu{t kg]{ hUuf -k|lts \̂&f_ 

-s_ /fhdfu{nfO{ %'g] hUuf 2860000 

-v_ /fhdfu{af^ %f]O pQ/blIf)F vf]lnPsf lkr af^f] ePsf] 

hUuf 

1720000 

-u_ pNn]lvt af^F]af^ vf]lnPsf af^F]x? 

1= kLr af^F]df kg]{ hUuf 1025000 

2= u|fa]n af^F]df kg]{ hUuf 730000 

3= sRrL af^F]df kg]{ hUuf 430000 

4= af^f] gePsf] hUUff 170000 

27= ?rfª uf=lj=;=cGtu{t kg]{ hUuf -k|lt/f]kgL_ 

-s_ df]^/af^f]n] %'g] hUuf 180000 

-v_ af^f] gePsf] wgx/tkm{ 60000 

-u_ af^f] gePsf] le^tkm{ 35000 

28= l;;jf/ uf=lj=;=cGtu{t kg]{ hUuf -k|lts \̂&f_  

-s_ /fhdfu{nfO{ %'g] hUuf j*f g+=1,1÷u, 

3÷s,3÷v,4÷s,v,u,#,5÷s,v,u,#,6÷s,v,u,#,ª,7÷s,v,u 

df kg]{ hUUffx? 

3200000 

1= /fhdfu{af^ %f]O pQ/blIf)F vf]lnPsf lkr af^f] ePsf] 

hUuf-k|lts&\&f_ 

2370000 

2= leqL lkr af^F]df kg]{ hUuf 2100000 

3= u|fa]n af^F]df kg]{ hUuf 1550000 

4= sRrL af^F]df kg]{ hUuf 880000 

5= dfly pNn]lvt j*Fdf af^f] gePsf] hUUff 275000 

-u_ ;f] j*f afx]s uf=lj=;=leq vf]lnPsf cGo ;a} leqL af^F]df kg]{ hUuf 

1= kLr af^F]df kg]{ hUuf 1150000 
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2= u|fa]n af^F]df kg]{ hUuf 880000 

3= sRrL af^F]df kg]{ hUuf 600000 

4= af^f] gePsf] hUUff 170000 

-#_ l;;jf/ j*f g+=9-jf/kf]n cGtu{tsf]_ 

-s_ af^F]n] %f]Psf] hUUff 220000 

-v_ af^F] gePsf] wgx/tkm{ 110000 

-u_ af^F] gePsf] le^tkm{ 70000 

29= lzjdlGb/ uf=lj=;=cGtu{t kg]{ hUuf -k|lts \̂&f_ 

1= j*f g+=2÷s,v,u cGtu{t 

c= cfjf; If]qsf] #*]/L tkm{ 1450000 

cf= cfjf; If]qsf afx]s pQm gS;fsf 

-s_ kLr af^F]df kg]{ hUuf 1450000 

-v_ u|fa]n af^F]df kg]{ hUuf 1060000 

-u_ sRrL af^F]df kg]{ hUuf 730000 

-#_ af^f] gePsf] hUUff 170000 

2= j*f g+=3÷s,v,u cGtu{t 

-s_ lj=kL=rf]sb]lv pQ/ hfg] af^f]df kg]{ hUuf 2260000 

-v_ ;f] af^f]sf] bfofafof vf]lnPsf lkr af^f]df kg]{ hUuf 1780000 

-u_ ;f] af^f]sf] bfofafof vf]lnPsf u|fa]n af^f]df kg]{ hUuf 1390000 

-#_ ;f] af^f]sf] bfofafof vf]lnPsf sRrL af^f]df kg]{ hUuf 730000 

-ª_ af^f] gePsf] hUUff 260000 

3= j*f g+=5÷u,6÷s,v,u cGtu{t 

-s_ kLr af^F]df kg]{ hUuf 1060000 

-v_ u|fa]n af^F]df kg]{ hUuf 800000 

-u_ sRrL af^F]df kg]{ hUuf 660000 

-#_ af^f] gePsf] hUUff 170000 

4= j*f g+=9÷s,9÷v cGtu{t 

-s_ lkr af^f]df kg]{ hUUff 900000 

-v_ u|fa]n af^F]df kg]{ hUuf 660000 

-u_ sRrL af^F]df kg]{ hUuf 500000 

-#_ af^f] gePsf] hUUff 170000 

30= x'K;]sf]^ uf=lj=;=cGtu{t kg]{ hUuf -k|lt/f]kgL_ 

-s_ j*F g+=9 sf] -;fljs x'K;]sf]^ uf=lj=;=cGtu{t kg]{ xfn 

b]p/fnL ahf/ Joj:yfkg cGtu{tsf] #*]/L hUuf 

660000 

-v_ x'K;]sf]^ uf=lj=;=j*f g+= xfn d}gf#f^ uf=lj=;=cGtu{t kg]{ hUuf 

1= df]^/ af^f]n] %f]Psf] hUuf 550000 

2= j*f g+=1 / 9 ;Ddsf] leqL af^f]]df kg]{ hUUff 350000 

3= j*f g+=1 / 9 ;Ddsf] leqL af^f]]df gePsf] hUUff 110000 

4= ;a} j*fsf] af^f] df]^/af^f]n] %f]Psf] hUuf 200000 

5= ;a} j*fsf] af^f] gePsf] wgx/tkm{ 70000 

6= ;a} j*fsf] af^f] gePsf] le^ tkm{ 40000 
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